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3. The number of people employed in a
country and the level of unemploy-
ment both increase.

What could make this possible?

A netinward immigration

B a decrease in the level of unem-
ployment benefits

C a decrease in the age at which
state pensions are payable

D an increase in the number of
students

[J08/P3/027]
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What would cause the curve FG to
shift to JK?

A a decrease in government expen-
diture
B a fall in the level of employment
C an increase in the rate of change
of wages
D the expectation of an increase in
inflation
[J08/P3/028]

Which pattern of labour market data is
likely to indicate an increase in cycli-
cal unemployment?

changes in

compulsory voluntary
redundancies resignations

A decrease increase

B increase increase

C decrease increase

D increase decrease

[NO8/P3/022]

The natural rate of unemployment in
an economy is 5%.

What will happen if a government
persists in trying to achieve a target
rate of unemployment of 3% by
expansionary monetary policy?

A an accelerating rate of inflation

B a diminishing rate of inflation

C a high but constant rate of
inflation

D a negative rate of inflation
[NO8/P3/Q23]

HELPS 0 MCQ

1. C Frictional and
structural unemployment
represents NRU.
Monetarists believe that
although in the short run
there is an inverse rela-
tionship between unem-
ployment and the rate of
inflation due to excess
money supply, in the long
run there is no such rela-
tionship.

2 A Net inward im-
migration results in an in-
crease in both employed
and unemployed.

3. D The short run
Philips curve shifts right-
ward due to expectation
of increase in inflation
rate. This means the
same level of unemploy-
ment but with a higher
level of inflation.

4. D Cyclical or de-
mand deficient unemploy-
ment occurs due to cycli-
cal fluctuations in AD. In
a recessionary period,
lack of AD forces the
firms to lay off workers
hence, an increase in
compulsory redundancies.
Also, due to the lack of
job opportunities the ten-
dency of voluntary resig-
nations decreases.

5. A In the long run,
NRU and the rate of in-
crease in money wages
are unrelated. Thus, a
persistent expansionary
monetary policy would
anly accelerate inflation
rate without reducing
NRU.
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D an increase in interest rates
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What could cause the curve to shift question

9. The diagram shows the relationship

to X,?

A an increase in the natural rate of
unemployment

B a decrease in the money supply

C the expectation of a decrease in
the inflation rate

D an increase in the rate of interest
[NOS/P3/Q24]

An economy is operating at its natural
rate of unemployment.

According to monetarist theory, what
will be the effect on unemployment in
the short run and in the long run of an
unanticipated increase in the money

supply?

short run long run
A no change no change
B no change reduction
C reduction no change
D reduction reduction
[J10/P3/Q24]

Which is most likely to result in an
increase in the natural rate of unem-
ployment?

A a decrease in government expen-
diture on goods and services

B a decrease in the level of govern-

ment payments to the unem-
ployed

increase in

between the rate of increase in wages
and the rate of unemployment.

 §

rate of

wages

rate of unemployment

What would be likely to cause the

curve in the diagram to shift down-
wards and to the left?

A areduction in regional differences
in unemployment rates

B an increase in the proportion of
the workforce belonging to trade
unions

C an increase in the unemployment
rate

D the expectation of a higher rate of
inflation

[J10/P3/Q25]
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An economy is operating at its natural
rate of unemployment.

According to monetarist theory, what
will be the effect on unemployment in
the short run and in the long run of an
unanticipated increase in the money

1.

supply?
short run long run
A | nochange no change
B | no change reduction
C | reduction no change
| D | reduction reduction
[J11/P3/Q14]

12,
The table shows the labour market for
an economy in four s€parate years.

] .
d'ln‘:/hl(c!h year was there excess
and |
\m the labour market?

Working | -
Populatiop | Unemployment job
- (ml”ions) rate (%) vacancies
A 9 (thousands)
Bl 1.0 180
C 20 2.0 80
Q N L1 240
L5 | 100

[N11/P3/Q6]
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13. The diagram shows an economy’s
short-run Phillips curve (SRPC).

the rate of change
in money wages

14.

4
SRPC

o

Y

What is assumed to remain constant
when drawing this curve?

A

B
C
D

The number of people
employed in a country and
the level of unemployment
both decrease.

What could explain this?

A
B

the average price level

the exchange rate

the expected rate of inflation
the money supply

[N11/P3/026]
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rate of change
in money wages

\ﬂemployment rate

10. B Expectations of
lower prices and higher
real wages would de-
crease natural rate of un-
employment, therefore
PC would shift leftward.

11. C An unexpected
increase in money supply
will ~ increase money
wages.

NAIRU (long run)

net inward immigration

o

an increase in the level of
unemployment benefits

an increase in the age at which
state pensions are payable

an increase in the number of
students

UM_ unemployment %

SRPC
(short run Philips curve)

The curve SRPC sug-
gests that NRU de-
creases as money wages
rise but NAIRU suggests
that NRU remains unaf-

[J12/P3/028] !
fected by the change in
money wages in the long
nn.

12. C No. of unem-
ployed = working popula-
tion x unemployment rate.
no. of job  |excess/short-
unemployed| vacancies fallin
(thousands)|(thousands)| demand
(thousands)
190 180 -10
380 80 =300
220 240 +10
300 100 =200
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15.

An economy’s unemployment rate is
below the natural rate.

What is likely to be the implications of
this for inflation and what can be de-
duced from this about the economy’s
actual level of output?

inflation actual output
A | accelerating | below potential output
B | accelerating | above potential output
C | decelerating | below potential output
D | decelerating | above potential output
[N12/P3/Q22]
16. What is most likely to lead to an in-

17.

18.

crease in the natural rate of unemploy-
ment?

A more rapid technological and
structural change

B a widening in regional wage dif-
ferentials

C a narrowing in regional house
price differentials

D adecrease in trade union member-
ship

[N12/P3/024]

Which type of unemployment arose
from the worldwide decline in the de-
mand for electronic goods beginning
in the summer of 20017

A seasonal B voluntary
C frictional D structural
[N12/P3/Q25]

Which policy is specifically designed
to reduce the level of structural unem-
ployment?

A an increase in the level of state

benefits paid to the unemployed
a reduction in interest rates

a reduction in the level of direct
taxation

the provision of retraining
schemes
[J13/P3/Q24]

19. What is a possible combination of g

cost and a benefit of rising levels of
unemployment?

cost benefit
| ]
A | adeterioration in | an increase in capital
human capital expenditure
B | an increase in import a decrease in
expenditure government tax
revenue
C |an increase in the rate| a more responsive
of economic growth workforce
D | an imretrievable loss |~ areduction in
of output inflationary pressure
[N13/P3/Q24]
20. A country experiences cyclical unem-
ployment due to a decrease in domes-
tic spending.
If the government takes no action in
response, what will be a likely conse-
quence?
A an increase in the current account
deficit on the balance of payments
B an increase in the government’s
budget deficit
C an increase in the rate of inflation
D an increase in the volume of
investment
[N13/P3/023]
21.

An economy is operating at its natural
rate of unemployment.

According to monetarist theory, what
will be the effect on unemployment in
the short run and in the long run of an
unanticipated increase in the money
supply?

short run long run
A no change no change
B no change reduction
C reduction no change
D reduction reduction
[N15/P3/Q25]
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m shows the annual per-
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o \ in the UK private sector

ween 2000 and 2012.
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Job scarch during frictional unem-
ployment may lead to a bofter
match of workers ang Jobs,

Tllw. psychological effects of
frictional unemployment are logg
than the cconomic cffects,
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n which year did labour productivity
- increase the most?

c 2009 D 2012
[J16/P3/Q24]

4. Which policy is specifically designed
to reduce the level of structural unem-
ployment?

A an increase in the level of state
benefits paid to the unemployed

B a reduction in interest rates

C areduction in the level of direct
taxation

D the provision of retraining
schemes

[J17/P3/Q19]
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Aa short spel] of frictional unem-
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26. What would not be classified as struc-

27.

tural unemployment?

A a car worker who is replaced by a
robot on the production line

B a coal miner whose mine closes
because of increased use of solar

power

a fruit picker who cannot find
work in the winter months

a textile worker whose factory
closes as production moves
abroad

[N17/P3/Q24]

A country has a population of 100
million. There are 5 million people
unemployed and the country has an

unemployment rate of 10%.

What is the size of the labour force?
A 10million
B 50million
C 90million
D 95million

[J18/P3/Q19]
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2,C A riso In M8
drives Intorast rate down
that causes AD and
honce tha prico lovel 1o
flso, According to the
thoory thero exists an In-
vorse rolationship be-
tween prico lovol and
NRU only in the shon
fun, 8o the NRU will fall
however It will not bo
affected In the long run,

2. A Deficiency of ag-
gregate demand suggests
recassion that Is assocl-
ated with bueiness cyclo,

2. A Percentage
change in output shows
an Increase with moro or
less the same lovel of
employment,

24. D Structural unem-
ployment Is the result of
a mismatch between the
skills required and the
skills possessed by the
workers, therefore retrain-
ing will help. Option A
is likely to increase it
while B & C would re-
duce demand deficient
unemployment.

25. C Options A, B &
D suggest negative ef-
fects of frictional unem-
ployment.

26. C It is seasonal
unemployment. All other
options suggest unem-
ployment resulting from
structural changes in the
economy, therefore they
are examples of structural
unemployment .

2.8

10 50= 5 milion.
100
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28, Which type of unemployment is cor-

rectly linked to the description of its
cause?

v
type of description of the cause
unemployment
welical  |® change in demand due
cyetie to holiday periods
fvictional a lack of sufficient
ot information
) a temporary change in
SiEctars! consumers’ expenditure
technological |? general decrease in the
g demand for goods

[J18/P3/020]

29. In 2007 Turkey had a population of 73

30.

m. Its labour force was 36 m, of which
12 m were trained for the primary
sector and 24 m were trained for the
secondary and tertiary scctors. The
unemployment rate was 10%.

What was the number of people
unemployed?

A 12m B 24m

C 36m D 73m
[N18/P3/023]

An economy’s manufacturing share of

real GDP fell from 30% in 1970 to 12%
in 2016.

What type of unemployment would
result from this?

A cyclical B frictional
C structural D voluntary
[N18/P3/Q24]
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LIST OF QUESTIONS

Q7 (N16/P4/Q5)

In 2011, one of the UKs’ largest multinational

of robots.

6 .
o N081P4/° o)untrles the rate of unemployment (a) Explain the causes of unemployment and |
o some l(;\e d low for several years. consider what type of unemployment is the i
has rema hat causes unemployment. [12] most serlous for the country in which you
(@) Explain W live, 12
@ (JWPMQS) hat a country's unem- (N17/P4/a7)
1 m2o06 M W':‘: Lea%”::?n;:e da sctea d;yan 4 that (a) In many countries there is a concern about %
; 0 m‘:patl Laank. through its Interest rate policy, the rate of unemployment. ¥
z 'w:en,evented an increase in inflation despite Consider what are likely to be the main
| :ashgrp rise In oil prices. causes of unemployment, [12]
; (8) Explain what might cause unemployment. (N18/P4/Q5)
{ [12) (a) Robots are increasingly used in various
[ @ (10P4QE) areas of production.
| () Explain the causes of unemployment. [12] Explain the type of unemployment which
| Q) may arise as a result of the increased use
4 (J13/P4
!

%

banks announced it would reduce the number
of people it employed by 43 000 — the equiva-
lent size of a small town. Unemployment in
the UK reached nearly 3 million in 2011.

(Source: adapted from The Times)

(8) Analyse what might cause an increase in
unemployment in a country. [12]

(b) Discuss what impact an increase in unem-
ployment [s likely to have on an economy.
»
[13]
(J14IP4IQG)
(&) Explain the

ment and ¢
most of th

possible causes of unemploy-
Xplain which is responsible for
@ unemployment in your country.
('"5/P4/oz) [12]

®) Expjy;
Xplain the difference between structural,

Cyel
discl?sa; :,?\d :easona| unemployment and
€ther g icp in i
2 count general rise in income

On each ofrythwomd have the same effect

©se types of unemployment.
(13]

Consider the contribution this may make
to total unemployment in an economy.
12]
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Question 1

In some countries the rate of unemployment has
remained low for several years.

Explain what causes unemployment. [12]
[N08/P4/Q6(a)]

Essay: '

Unemployment is defined as people who are out of
work but, have actively looked for a job over the
previous four weeks and who are available to work
within the next two weeks. Unemployment can be
expressed as a number or a percentage. Unemploy-
ment rate is the percentage of the work force that
is unemployed. The work force can be defined as
those who are employed and unemployed.

The causes of unemployment fall into two broad
categories: Equilibrium unemployment (NRU) and
disequilibrium unemployment (real wage unem-
ployment).

Real wage unemployment or classical unemploy-
ment is where trade unions use their monopoly

power to derive wages above the market clearing

level resulting in an excess supply of labour. Gov-
ernments introducing minimum wage legislation
could also cause it.

Even when there is no general disequilibrium in the
economy at the current wage levels, there will still
be some unemployment. This is also known as the
natural rate of unemployment. For various reasons
not all vacancies will be filled. The problem is one
of the mismatching. There are various types of
equilibrium unemployment.

Frictional unemployment is transitional unemploy-
ment due to people moving between jobs: For ex-
ample, newly redundant workers or workers enter-
ing the labour market for instance, university
graduates, may take time to find appropriate jobs
at wage rates they are prepared to accept. Thus,
many are unemployed for a short time whilst in-
volved in job search. Imperfect information in the
labour market may make frictional unemployment
worse if the jobless are unaware of the available
employment opportunities.

Structural unémployment arises from changes in

the pattern of demand or supply in the economy. .

People made redundant in one part of the economy
due to a long run decline in demand in particular
industries cannot immediately take up jobs in other
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Question 2

In 2006 it was reported that a country’s unemployngy
rate had remained steady and that its centra| bank,
through its interest rate policy, had prevented an iy
crease in inflation despite a sharp rise in oil prices.

Explain what might cause unemployment. 1]
[JO9/P4Q5 )

Essay

In a modern economy unemployment has a vai
ety of causes. Some of them relate to the genen
level of economic activity, others are the resultof
a failure of the labour market in an econo”

work optimally.

Unemployment resulting due to a lack of aggre®

demand for goods and services is called oyclid”
involuntary unemployment. This is also k"m:n
Keynesian "demand deficient" unemploym™” o
is associated with the transition of the.ec:: '
through the business cycle. When ther® . ot
nomic recession we expect to se¢ nsmgres W
unemployment because of plant 'closu g
worker lay-offs. This is due to 2 fall inA o
leading to a contraction in output acn?ss
dustries as shown in the figure belo¥
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Although demand deficient un-employm-ent i§ usu-

lly associated with economic recessions it can
:lso exist in the long run when the economy is
constantly run below capacity. As the economy
recovers from a downturn, we expect to see the
problem of cyclical unemployment decline.

Unemployment resulting from a disequilibrium in
the labour market is another form of involuntary
unemployment. This is also known as real wage
unemployment and is often referred to as classical
unemployment. Classical real wage unemployment
is a form of dis-equilibrium unemployment that oc-
curs when real wages for jobs are forced above the
market clearing level.

Traditionally, trade unions are seen as the institu-
tions causing this type of unemployment. Some
economists believe that the introduction of the
national minimum wage (NMW) may create some
classical unemployment in industries where
dverage wage rates are closer to the NMW level
and where international competition from low-
labour cost producers is severe.

el age ﬂ‘ supply
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W, -_--.\

Wep-----.

demand of
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If a real wage (W,) is maintained above the equilib-
rum real wage (we) then the result is an excess
supply of labour equal to q; — q,. This is labeled
as real wage unemployment,
The natural rate of unem
rium rate of unemployme
tary unemployment. It C
structural unemployment

Ployment is the equilib-
nt and also called volun-
onsists of frictional and
F.rictional unemployment is voluntary or transi-
tional _unemployment due to people moving be-
tween jobs: For example, newly redundant workers,
or workers entering the labour market for the first
t!me such as graduates and school-leavers take
time to find jobs at wage rates they are prepared to
accept. Many of the frictionally unemployed are

out of work for a short time whilst engaged in job
search.

Imperfect information in the labour market may lead
to a rise in frictional unemployment if the jobless
are unaware of the available jobs. Often this infor-
mation failure is localised - for few workers scan
the vacancies available across the whole economy,
they tend to restrict their search for work to a local
area. Besides some people may opt not to accept
jobs at prevailing market wage rates if they believe
the income tax and benefit system will reduce the
net increase in income people can expect from tak-
ing paid work. This problem is referred to as the
unemployment trap.

Unemployment caused by a change in the pattern
of demand and methods of production is called
structural unemployment. Structural change is a
constant feature of a flexible economy. Hence un-
employment occurs when people are made jobless
because of 'capital-labour substitution' which re-
duces the demand for labour in an industry, or
when there is a long run decline in demand which
causes redundancies and worker lay-offs. In short
the cause of structural unemployment is a 'mis-
match' between the existing skills of the workers
and the skills required for the new job opportuni-
ties.

In some industries such as fruit—picking. and holi-
day catering unemployment is .seasonal. in chara.c-
ter. The difficulty is that the skills 'requu'ed by dif-
ferent seasonal jobs are not substitutable but de-
mand for their products follows a seasonal pattern.
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Question 3
Explain the causes of unemployment. [12]
[JI0/P4/06 (a)]

Essay

Unemployment is defined as people who are out of
work but, have actively looked for a job over the
previous four weeks and who are available to work
within the next two weeks. Unemployment can be
expressed as a number or a percentage. Unemploy-
ment rate is the percentage of the work force that
is unemployed. The work force can be defined as
those who are employed and unemployed.

The causes of unemployment fall into two broad
categories: Equilibrium unemployment (NRU) and
disequilibrium unemployment (real wage unem-
ployment).

Real wage unemployment or classical unemploy-
ment is where trade unions use their monopoly
power to derive wages above the market clearing
level resulting in an excess supply of labour. Gov-
ernments introducing minimum wage legislation
could also cause it.

Even when there is no general disequilibrium in the
economy at the current wage levels, there will still
be some unemployment. This is also known as the
natural rate of unemployment. For various reasons
not all vacancies will be filled. The problem is one
of the mismatching. There are various types of
equilibrium unemployment.
Frictional unemployment is transitional unemploy-
ment due to people moving between jobs: For ex-
ample, newly redundant workers or workers enter-
ing the labour market for instance, university
graduates, may take time to find appropriate jobs
at wage rates they are prepared to accept. Thus,
many are unemployed for a short time whilst in-
volved in job search. Imperfect information in the
labour market may make frictional unemployment
worse if the jobless are unaware of the available
employment opportunities.

Structural unemployment arises from changes in
the pattern of demand or supply in the economy,
People made redundant in one part of the economy
due to a long run decline in demand in particular
industries cannot immediately take up jobs in other
parts or other industries, Hence, structural unem-
ployment exists where there is a mismatch between

their skills and the requirements of the new job
Opportunities,

Seasonal unemployment occurs when the demand
for certain types of labour fluctuates with the

seasons of the year. For insta ‘\q
fruit picking and holiday Cateriy, q"ﬂo,\
is

character. The difficulty g that the . L]

by different seasonal jobs are ot skillg r‘%;(

Keynesian unemployment i refm:b"ﬂ%
to EYY '

deficient or cyclical unemplo
cal unemployment entails the a Th“ﬂmc,
slumps in the level of €conomic acy;, - bo""d;:
fluctuations in aggregate demang_ Jnyd!b:h,_'
increases when aggregate demap, dm
there being a deficiency of demang f;‘OO oy
services. Since labour is a derived g ®
of demand for goods and services wij| 5 e b
a deficiency of demand for laboyr, so]th

Question 4

In 2011, one of the UKs’ largest multinatiopy
banks announced it would reduce the numbe .-
people it employed by 43 000 — the equivale:
size of a small town. Unemploynem in the UK
reached nearly 3 million in 2011,

(Source: adapted from The Timey,

(8) Analyse what might cause an increase in unec-

ployment in a country. 2]
(b) Discuss what impact an increase in unemploymez
is likely to have on an economy. (13
[JI3P4(4]
[
Essay

(@ Unemployment is defined as people who are out¢f
work but, have actively looked for a job over?
certain period of time. Unemployment can bé &
pressed as a number or a percentage. Unemplf |
ment rate is the percentage of the work foroed:
is unemployed. The work force can be defined
those who are employed and unemployed-

Cyclical unemployment is involuntary unempl?
ment due to a lack of aggregate demand K gﬁi,ﬂ
and services. This is also known as K&™ _
“demand deficient” unemployment and 18
ated with the transition of the ec.onomzco omié
the business cycle. When there 1 anl e
recession we expect to see a rising |°V:n orkd!
ployment because of plant c.:losureS feadite”
lay-offs. This is due to a fall in dema?ndustrics_
a contraction in output across many Joyme™ s
Although demand deficient l-mee[:gsions it
usually associated with economiC



ong run when the economy is
pelow capacity. As the economy

Jownturn, We expect to see the
. loyment decline. The

clical unemp !
%c illustrated on the following graph
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ll in aggregate demand from AD, to AD, re-
Al in a decrease in national income from Y, to
" ;snd as such there is an increase in the numbers
k loyed. Labour, after all, is a derived demand,
;z?ved from the demand for the good that is being

oduced. So, if there is a fall in the demand for
oducts in the goods market then the demand for
abour will fall causing unemployment. Consider

the following graph.
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v e diagram we see that the equilibrium wage is
a\rl gving a.leVel of employment of L. Keynesians
e?:: ;hat In times of recession, the aggregate
0t :lcllrve for the economy as a whole shifts
Wwetoe?{' This causes the demand for labour
Iihe reai ift to the left as well (from Dy, to PLZ)'
Y~ w Wage.r ate stays at W, then there will be
2Workers involuntarily unemployed.

ur. .
eie’ the classical economists would argue
librium S:l Wage rate would fall to the new equi-
48 W,, employment L,). The level of

OYm
Woulg . - ¥ould fall (from L, to L;) but there

e .
| 10 involuntary unemployment. Keynes
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argued that this would not ne
cause wages and
Even if the real w
of the workers wo
economy,
and a furt
So, itis h

J cessarily happen be-
Prices are ‘sticky downwards’,

age rate falls, the lower incomes
uld lead to lower spending in the
a further reduction in aggregate demand
her reduction in the demand for labour,
. eld that the government can use macro-
cconomic policies to increase the level of aggregate
demand. These policies might involve lower inter-
est rates or lower direct taxes, |t might also encour-

age foreign investment into the economy from for-
eign multinational companies.

On the other hand classical economists believe
Fhat the causes of increase in unemployment fall
into two broad categories: Equilibrium unemploy-
ment (NRU) and disequilibrium unemployment (real
wage unemployment).

Real wage unemployment or classical unemploy-
ment is where trade unions use their monopoly
power to derive wages above the market clearing
level resulting in an excess supply of labour. Gov-
ernments introducing minimum wage legislation
could also cause it. Consider the following graph.
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If a real wage (W) is fixed above the equilibrium
real wage (we) then the result is an excess supply
of labour equal to q;—q, real wage unemployment.

Even when there is no general disequilibrium in tl.1e
economy at the current wage levels, there will still
be some unemployment. This is known as the
natural rate of unemployment. For various reasons
not all vacancies will be filled. The p'roblem is one
of the mismatching. There are various types of
equilibrium unemployment. ‘

Frictional unemployment is transntxon;.ﬂ unemploy-
ment due to people moving between jobs: For ex:
ample, newly redundant work.ers or workers ent;r
ing the labour market for instance, ur!nt/er.s;)b)sl
graduates, may take time to find appropn:i ?1“ Jh 0
at wage rates they are prepared to iacce\i)lh.ilst in:
many are unemploycd fora shqrt time whil: "

in job search. Imperfect information 1n

el Jrket may make frictional unemploxment
:::?sl: 2‘1 zt‘he jobless are unaware of the available
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employment opponunities. o8 from hangos in
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Structural unemplo
the pattern of demand of supp e oMy

People made redundant in 91\% pnm"d !
duc to a long run decline in den

industrics cannot immediatc

i tag, Hence,
ther industrics: '
ot here is & 8F

increases when t X
t‘::x(:tyclll: (l:::::tt\l\:\ecn their s!(i.lls and the require
the new job opportunitics: . semand
Seasonal unemployment occurs wh i
for certain types of labour fluctuates W e it
sons of the year. For instance, employmen " -
picking and holiday catering 1 .seasona! mdcb A
ter. The difficulty is that the skills 'requ1rc y
ferent seasonal jobs are not substitutable.

Hence it follows that there arc severa! causes of
increase in unemployment. However, in the long
term, effective policies to reduce the .total level of
unemployment need to encourage an improvement
in the employability of the labour supply. These
may require some reforms of the tax and benefits
system, @ sustained period of economic gro“{th and
improving skills and reducing occupational immo-

bility.

ments 0 [

gh levels of unem-
he individuals and
o local and
whole.

() Most economists agree that hi
ployment are costly not only to't
families directly affected, but also t
regional economies and the economy as a
We can make a distinction between the economic
costs arising from people out of work and the
social costs that often result.

Unemployment causes a waste of scarce economic
resources and reduces the long run growth poten-
tial of the economy. An economy with high unem-
ployment is producing within its production possi-
bility frontier. The hours that the unemployed do
not work can never be recovered. Consider the fol-
lowing graph.
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The existence of any Idle resource, A
cconomy will be at a point withip | 4
sossibility frontier, point D for lnsmns Mg, dUc[:hQ
all points on the PPC suggest hg tche °w¢,,""
could have produced more goody , ¢ ey or:"
which would then have been avmm:l'd ey
sumption. SO there is a 1088 of ougpy ef r%:‘
workers now uncmployed coulq hav‘Zh'“' 'hfn;
had they been in work. Also if unemy, "'Odum
be reduced, total national output cap Mt
to an improvement in economic welfar, ml;l °ﬂdink
is the cost to the whole economy i'n g
wasted, unused resources leading to 5| °Wc:r|qs of
'Ving

standard.
Besides this, high unemployment has g, im
govcrnment expenditure, taxation and the | act
government borrowing each year. An ine,
unemployment results in higher benefit paym
and lower tax revenucs. When individuals arccnts
employed, not only do they receive benefj :n.
also pay no income tax. As they are spen ding Icut
they contribute less to the government in indirei:
taxes. This rise in government spending along i
the fall in tax revenues may result in a higher 2oV
ernment borrowing requirement leading to arise
national debt.

Unemployment wastes some of the scarce re.
sources used in training workers. Furthermore
workers who are unemployed for long periods e
come de-skilled as their skills become increasingy
outdated in a rapidly changing job market. Thi
reduces their chances of gaining employmentin
the future, which in turn increases the economic
burden on government and society.

Rising unemployment is also linked to social and
economic deprivation - there is some relationship
between rising unemployment and rising crime aﬂfi
worsening social dislocation such as increased O+
vorce, worsening health and lower life
expectancy. Areas of high unemployment will alse
see a decline in real income and spending tf’g“h"
with a rising scale of relative poverty and inco
inequality. As younger workers are more g?‘:
graphically mobile than older employecs, there
risk that areas with above average unem .
will suffer from an ageing potential \'lorkf"'ions
making them less attractive as investment locat

for new businesses.

It is clear, therefore, that unemploym®
substantial economic and social ¢ | unel”
costs are greatest when long-term smlcwr:ts foo
ployment is high. Indeed many govemlfle
their labour market policies on imprOV";%np
ployment prospects of the long-term "
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ent needs o take an active man-

m
P gove pioe economy on both demand

Ho\Wc wof t[,l:]is in order t0 avoid costs of unem-

Mﬂ"" ssible causcs of unemployment and
W"int -chois responsible for most of the unem-
cxplﬂin ‘:2:1 your country. [12]
oy [J14/P4/06(2)]

fo joyment is defined as people wh9 are out of
UremP { have actively looked for a job over a

work U ! iod of time. Unemployment can be ex-
'“dp:s a number or a percentage. Unemploy-
e he percentage of the work force that

4. The work force can be defined as
{hose who are employed and unemployed.
0

clical unemployment is involuntary unemploy-

t due to a lack of aggregate demand for goods
m";‘ ervices. This is also known as Keynesian
ﬁgcms and deficient” unemployment and is associ-
ated with the transition of the economy through
the business cycle. When thferc is an economic
ssion we expect to sec a rising level of unem-

I ,
tpnent rate 15 ¢
is unemploye

rece
ployment because of plant closures and worker
[ay-offs. This is due to a fall in demand leading to

a contraction in output across many industries.

Although demand deficient unemployment is usu-
ally associated with economic recessions it can
also exist in the long run when the economy is
constantly run below capacity. As the economy
recovers from a downturn, we expect to see the
problem of cyclical unemployment decline. The
corcept can be illustrated on the following graph
showing AD & AS.
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In the diagram we see that the equilibrium wage is
W, giving a level of employment of L,. Keynesians
argue that in times of recession, the aggregate
demand curve for the economy as a whole shifts
to the left. This causes the demand for labour
curve to shift to the left as well (from DL, to DL,).
If the real wage rate stays at W, then there will be
L, - L, workers involuntarily unemployed.

Of course, the classical economists would argue
that the real wage rate would fall to the new equi-
librium (wage W,, employment L,). The level of
employment would fall (from L, to L,) but there
would be no involuntary unemployment. Keynes
argued that this would not necessarily happen be-
cause wages and prices are ‘sticky downwards’.
Even if the real wage rate falls, the lower incomes
of the workers would lead to lower spending in the
economy, a further reduction in aggregate demand
and a further reduction in the demand for labour.
So, it is held that the government can use macro-
economic policies to increase the level of aggregate
demand. These policies might involve lower inter-
est rates or lower direct taxes. It might also encour-
age foreign investment into the economy from for-
eign multinational companies.

On the other hand classical economists believe
that the causes of increase in unemployment fall
into two broad categories: Equilibrium unemploy-
ment (NRU) and disequilibrium unemployment (real
wage unemployment).

Real wage unemployment or classicgl unemploy-
ment is where trade unions use their monopoly
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Power to dertve wages above the market clearing
tevel tesulting I an oxcons supply of lnbour, Cov-
ernnents lntroducing mintmum wage leglslation
could alxo enuse it, Conslder the followlng graph.
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If a real wage (W,) is fixed above the equilibrium
real wage (W) then the result is an excess supply
of labour equal to q;—q, real wage unemployment.
Even when there is no general disequilibrium in the
economy at the current wage levels, there will still
be some unemployment. This is known as the natu-
ral rate of unemployment. For various reasons not
all vacancies will be filled. The problem is one of
the mismatching. There are various types of equi-
librium unemployment.

Frictional unemployment is transitional unemploy-
ment due to people moving between jobs: For ex-
ample, newly redundant workers or workers enter-
ing the labour market for instance, university
graduates, may take time to find appropriate jobs
at wage rates they are prepared to accept. Thus,
many are unemployed for a short time whilst in-
volved in job search. Imperfect information in the
labour market may make frictional unemployment
worse if the jobless are unaware of the available
employment opportunities.

Structural unemployment arises from changes in
the pattern of demand or supply in the economy.
People made redundant in one part of the economy
due to a long run decline in demand in particular
industries cannot immediately take up jobs in other
parts or other industries. Hence, structural unem-
ployment increases when there is a growing mis-
match between their skills and the requirements of
the new job opportunities.

Seasonal unemployment occurs when the demand
for certain types of labour fluctuates with the sea-
sons of the year. For instance, employment in fruit
picking and holiday catering is seasonal in charac-
ter. The difficulty is that the skills required by dif-
ferent seasonal jobs are not substitutable.

{\part f"rom others the main cause of unemployment
in Pakistan is the persistent deficiency of aggregate
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Cr g

in AD has led to ; 8
i growin Ow
period of time, & Unemp|

Questlon 6

Explain the difference between
and seasonal unemployment an:j l’u.ctural, oy
a general rise in income i ol diseygg qm“
RtrY woyg hher
v

the same effect on each of these

ployment. tYpes of n
.
[y

i 5/P4/QZ (b)}

Essay

Unemployment is defined as
work but, have actively log
previous four weeks and wh
within the next two weeks.
expressed as a number or a percentage. Unemy,
ment rate is the percentage of the work forc:,J ;z
is unemployed. The work force can pe defineq
those who are employed and unemployed,

Even when there is no general disequilibrium p
economy at the current wage levels, there will |
be some unemployment. This is also known ashe
natural rate of unemployment. For various reasons
not all vacancies will be filled. The problem is one
of the mismatching. Structural and seasonal at
two such type of unemployment.
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i Out of
ked for 5 Job over the
0 are availape worg
Unemployment can be

Structural unemployment arises from changes
the pattern of demand or supply in the economy.
People made redundant in one part of the ecopomy
due to a long run decline in demand in pariol®
industries cannot immediately take up jobs mo:)h:;
parts or other industries. Moreover, there “"“);l "
technological change resulting in mlsmalf“m
tween skills of unemployed workers and Sllgymen‘
quired for jobs. Hence, structural unemp n thl
exists where there is a mismatch bewetfoppor‘
skills and the requirements of the ne¥ Jo

tunities.
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dﬁcnen ., in incomes could result in an in-
A gener® egate demand. So, when demand for
asc in vices rises firms will have an eco-
o nd s¢ ncrease their output levels and
|d require more of all the re-
therefOY?nclu Jing labour. Since.the sm;‘rce of cy-
sou loyment i the deficiency of aggregate
unem fore it iS likely to decrease. Structural
gemand there { however may not decrease as the
unel‘nplc))lmei!_’i’t is that of mismatch between the
| cause,‘?d by the firms and the skills that those
skills re‘quge ossess. Textile workers made redun-
unempﬁ.oy‘ls1 5e no job opportunities if there is a
fat v:gl lde:\and for workers in electronic industry.
arOW!
g?ar e seasonal unemplpyment is con;:erned it
hange due to the rise in demand. It, however,
ma cds, on whether increasing demand for labour
?:Er:des the jobs requiring the skills that tl}e
worker possess and also the workers can.work in
other industries in their off season. Agrlcgltural
workers, for instance, can work in construction in-

dustry.
It, therefore, follows that rising general incomes
may not change all types of unemployment.
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Question 7

Explain the causes of unemployment and consider
what type of unemployment is the most serious for
the country in which you live.

[12]
[N16/P4/Q5(a)]
Essay
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those who are employed and unemployed,

The causes of unemployment fall into two broad
categories: Equilibrium unemployment (NRU) and

disequilibrium unemployment (real wage unem-
ployment),

Real wage unemployment or classical unemploy-
ment is where trade unions use thejr monopoly
power to derive wages above the market clearing
level resulting in an cxcess supply of labour, Gov-

ernments introducing minimum wage legislation
could also cause it,

Even when there is no general disequilibrium in the
economy at the current wage levels, there will still
be some unemployment, This is also known as the
natural rate of unemployment, For various reasons
not all vacancies will be filled. The problem is one
of the mismatching. There are various types of
equilibrium unemployment.

Frictional unemployment is transitional unemploy-
ment due to people moving between jobs: For ex-
ample, newly redundant workers or workers enter-
ing the labour market for instance, university
graduates, may take time to find appropriate jobs
at wage rates they are prepared to accept. Thus,
many are unemployed for a short time whilst in-
volved in job search. Imperfect information in the
labour market may make frictional unemployment
worse if the jobless are unaware of the available
employment opportunities.

Structural unemployment arises from changes in
the pattern of demand or supply in the economy.
People made redundant in one part of the economy
due to a long run decline in demand in particular
industries cannot immediately take up jobs in other
parts or other industries. Hence, structural unem-
ployment exists where there is a mismatch between
their skills and the requirements of the new job
opportunities.

Seasonal unemployment occurs when the demand
for certain types of labour fluctuates with the sea-
sons of the year. For instance, employment in fruit
picking and holiday catering is seasonal in charac-
ter. The difficulty is that the skills required by dif-
ferent seasonal jobs are not substitutable.

Keynesian unemployment is referred to as demand
deficient or cyclical unemployment. The term cycli-
cal unemployment entails the alternate booms and
slumps in the level of economic activity due to the
fluctuations in aggregate demand. Unemployment
increases when aggregate demand is too small,
there being a deficiency of demand for goods and
services. Since labour is a derived demand, the lack
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Question 8

of demand for goods and services will also lead to
a deficiency of demand for labour.

In Pakistan, there is a vast open unemployment
and disguised unemployment. Generally unem-
ployment has spread with urbanization and the
spread of education because the manufacturing
sector failed to expand along with the growth of
labour force. There is unemployment among the
educated who fail to find jobs due to the lack of
manpower planning. Then there is concealed or
disguised unemployment. This is when the work-
ers are unable to find work throughout the year.
Generally persistent high unemployment in Paki-
stan is attributed to undeveloped natural re-
sources, lack of capital formation, technological
backwardness and lack of enterprise and initiative.
So, high-unemployment in Pakistan is persisting in
the long run because our economy is continuing
to operate below its capacity.

In many countries there is a concern about the rate
of unemployment.

Consider what are likely to be the main causes of
unemployment. [12]

[N17/P4/Q7(a)]
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Unemployment is defined as people who are out of
work but, have actively looked for a job over the
previous four weeks and who are available to work
within the next two weeks. Unemployment can be
expressed as a number or a percentage. Unemploy-
ment rate is the percentage of the work force that
is unemployed. The work force can be defined as
those who are employed and unemployed. In a
modern economy unemployment has a variety of
causes. Some of them relate to the general level of
economic activity, others are the result of a failure
of the labour market in an economy to work opti-

mally.

The causes of unemployment attributed to the fail-

ure of labour market fall into two broad categories:

Equilibrium unemployment (NRU) and disequilib-

rium unemployment (real wage unemployment).

Real wage unemployment
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at wage rates they are prepared o it :lteJObs
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worse if the jobless are unaware of the aVaila;T‘
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Structural unemployment arises from changes iy
the pattern of demand or supply in the economy,
People made redundant in one part of the economy
due to a long run decline in demand in particuly
industries cannot immediately take up jobs in other
parts or other industries. Hence, structural unen-
ployment exists where there is a mismatch between
their skills and the requirements of the new job
opportunities.

Seasonal unemployment occurs when the demand
for certain types of labour fluctuates with the s
sons of the year. For instance, employment in frut
picking and holiday catering is seasonal in chars
ter. The difficulty is that the skills required bydk-
ferent seasonal jobs are not substitutable. d {
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fluctuations in aggregate demand Ur}emPO il
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‘ pelow capacity. As the economy recov-
stﬂ‘tl)’:: downturn, we expect to see the problem

:fscycli cal unemployment decline.
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(uestion 9

Robots are increasingly used in various areas of

production.

Explain the type of unemployment which may arise
s a result of the increased use of robots.

Consider the contribution this may make to total
unemployment in an economy. [12]

[N18/P4/Q5(a)]
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Unemployment is defined as people who are out of

work. but, have actively looked for a job over a

%rtain period of time. Unemployment can be ex-

:::::ed a a number or a percentage. Unemploy-

X unef;tel is the percentage of the work force that

e w}I:()Oyed. The work force can be defined as
are employed and unemployed.

empr;zl;:;s;::%en identify different causes of un-
Stance, jg ais yihcal unemployment, for in-
Eficient uneo nown as Keynesian "demand
t“fansition mtf’loyment and is associated with
55 oyele, of the economy through the busi-
leve ¢ 1 the other hand classical economists
Ment gy, . © causes of increase in unemploy-

Int
© two broad categories: Equilibrium

:?:x:g{zeen: (NRU) and disequilibrium unem-
e e s e
¢ trade unions use their
kme?::(l):)a(;:z' plower to derive wages above the mar-
s g ev'el or governments introducing mini-
um Wwage legislation. Even when there is no gen-
eral disequilibrium in the economy at the current
wa.ge.levels, there will still be some unemployment
This is known as the natural rate of unemploymcn;
(NRU). For various reasons not all vacancies will
be. filled. For instance, unemployment associated
anth people moving between jobs is known as fric-
tional unemployment. Seasonal unemployment
occurs when the demand for  certain types of
labour fluctuates with the seasons of the year.

Structural unemployment arises from changes in
the pattern of demand or supply in the economy.
?eople made redundant in one part of the economy
in particular industries cannot immediately take up
jobs in other parts or other industries. Hence,
structural unemployment increases when there is a
growing mismatch between their skills and the
requirements of the new job opportunities. The
type of unemployment which may arise as a result
of the increased use of robots is known as techno-
logical unemployment and it is considered to be
part of a wider concept known as structural unem-
ployment.

Introduction of robots in production may allow the
same level of output to be produced with fewer
workers. This is known as 'labour saving technical
progress'. It therefore can lower demand for the
workers who possess the skills to do the jobs that
are now performed by robots. For example, com-
puter technology, the introduction of automated
teller machines (ATMs), and electrical relays and
digital switching technology greatly reduced the
need for typists, bank tellers and telephone opera-
tors. Those workers were made redundant.

Unless output expands sufficiently to absorb the
surplus labour, people will be made redundant in
the short run at least. In the long run, however, the
logic of the Luddite Fallacy is that as jobs are lost
in one area of the economy due to improved tech-
nology, new jobs are created in others. There are
two main reasons why new technology replaces
lost jobs. Firstly, Jobs are created to n_\ake and
design the new machines, and secondly, mcre.ased
productivity enables higher wages and rela.tlvely
This gives consumers more dispos-
hich can be spent on a wider range
nd a fall in over-
jobs are created

lower prices.
able income W 1 be
of goods leading to a rise in AD a
all unemployent . Therefore, new




A Level Economics (Essays)

due to the increased purchas-
d profit can lead to "%
s elsewhere. h

in new industries -
ing power. Similarly increase
increased investment creating more job
So introduction of robots in production doesn't
have to increase overall unemployment, even
though some types of workers may temporarily
lose their jobs. This is particularly true if labour
markets in a country are flexible. However, if there
are labour market inflexibilities, then it can cause
unemployment - at least, for a certain time period.
For example, due to technological change, coal
miners may lose their jobs. However, dueto occu-
pational and geographical immobilities, they may
be unable to take new jobs in the service sector for
a miner may not have skills to work in computers;
he may find it hard to relocate. In this case, tech-
nological change can cause a temporary increase
in unemployment - which will last until the coal
miners acquire some other skills to move in other
industries. Also if technological unemployment
resulting from increased use of robots is limited
to the industry that employed a. fraction of the
country's labour force then its contribution to over-
all unemployment could just be negligible.

It therefore follows that new technology can ben-
efit everyone in society - enabling growth in pro-
ductivity, real wages, shorter working weeks and
greater job satisfaction - and any technological
unemployment will just prove to be short-lived.




